




VOCABULARY

MIEN

Meaning : the appearance, behaviour or 

typical expression of a person that shows 

their real feelings

Synonyms : Demeanor, Presence, 

Attitude

Antonyms : Absence , Courtesy

Sentence : These parents tend to be of a 

particular mien and gait.



ERROR 

DETECTION 

PART 1



The given sentence has been broken up into four different 

parts. The error, if any, will be in any one part of the 

sentence. Select the option which contains the part of the 

sentence which has an error (spelling, grammatical or 

contextual). If there is no error, choose option E.



To an insurance company, (A) / the law relating to (B) / 

the principles of subrogation and (C) / contribution are 

of great importance. (D) / No Error (E)

1. To an insurance company,

2. the law relating to

3. the principles of subrogation and

4. contribution are of great importation.

5. No Error



My uncle said that (A) / he would reach to (B) / the 

bus stand with all his (C) / belongings within an 

hour. (D) / No Error (E)

1. My uncle said that

2. he would reach to

3. the bus stand with all his

4. belongings within an hour

5. No Error



The dictator sentenced the social activist (A) / to ten 

years of rigorous imprisonment (B) / just because she 

vauched for (C) / women empowerment in a blog. (D) 

/ No Error

1. The dictator sentenced the social activist

2. to ten years of rigorous imprisonment

3. just because she vauched for

4. women empowerment in a blog.

5. No Error



Euthanasia is basically killing of (A) / patients by 

doctors at the instance (B) / of the patient in order to 

free him or her from (C) / exhilarating pain or from 

terminal illness. (D) / No Error (E)

1. Euthanasia is basically killing of

2. patients by doctors at the instance

3. of the patient in order to free him or her from

4. exhilarating pain or from terminal illness.

5. No Error



The waiter of the new (A) / restaurant asked me if he 

should (B) / bring me the special dish (C) / prepared 

by their chef. (D) / No Error (E)

1. The waiter of the new

2. restaurant asked me if he should

3. bring me the special dish

4. prepared by their chef.

5. No Error



The cancer patient is comparatively better (A) / today 

and the doctor hopes (B) / that he will go into (C) / 

remission soon. (D) / No Error (E)

1. The cancer patient is comparatively better

2. today and the doctor hopes

3. that he will go into

4. remission soon

5. No Error



At the age of twenty, (A) / he became Bollywood’s

(B) / one of the most (C) / sought actors. (D) / No 

Error (E)

1. At the age of twenty

2. he became Bollywood’s

3. one of the most

4. sought actors

5. No Error



Through social media information (A) / can be 

transmitted in a fraction of a second, (B) / often 

giving rise to (C) / fake and fabricated news. (D) / 

No Error (E)

1. Through social media information

2. can be transmitted in a fraction of a second

3. often giving rise to

4. fake and fabricated news

5. No Error



Properties of the willful defaulters (A) / were 

confisceted by the government (B) / last month after 

the Enforcement Directorate (C) / filed charge sheet 

against them. (D) / No Error (E)

1. Properties of the willful defaulters

2. were confisceted by the government

3. last month after the Enforcement Directorate

4. filed charge sheet against them

5. No Error



Millions of people may be (A) / displaced and 

thousands of cities (B) / may drown because of 

melting glaciers (C) / and raising sea levels. (D) / No 

Error (E)

1. Millions of people may be

2. displaced and thousands of cities

3. may drown because of melting glaciers

4. and raising sea levels

5. No Error



Read the sentence to find out whether there is any 

grammatical or idiomatic error in it. The error, if any, 

will be in two parts of the sentence. Mark the parts 

with the error as your answer. If there is no error, 

mark (E). (Ignore errors of punctuation, if any)



Previous studies have shown that, since the 1950s, (A) / 

rates of sea level rise along Atlantic coast of (B) / North 

America were fast than the global average -- leading 

(C) / to this region coming to be known as a sea level 

rise hotspot. (D)

1. AB

2. CD

3. BD

4. BC

5. No error



A few of the technology to reduce emissions from 

(A) / agriculture and farming, and to optimise feed 

yields, (B) / are already available but (C) / adoption 

of the science is lagging. (D) 

1. AC

2. AB

3. BC

4. AD

5. No error



No child growing up in India fails to study the Indus 

Valley Civilisation, (A) / which is now more popularly 

referred to the Harappan Civilisation (B) / after Harappa, 

the first of its site to be excavated (C) / in the 1920s by 

British archaeologist Sir Mortimer Wheeler. (D)

1. AD

2. BC

3. AC

4. CD

5. No error



The US began seeing India as a valuable (A) / market, 

a democratically counterweight (B) / to China, and a 

source for stability in the (C) / US-dominated 

international system.

1. BC

2. AC

3. AD

4. CD

5. No error



The end of the Cold War saw India reframe how they 

(A) / viewed the world, and had left it with (B) / little 

choice but to deepen its (C) / engagement with the 

only superpower at the time. (D)

1. BD

2. BC

3. AD

4. AB

5. No error



State Bank of India, the countries largest lender, (A) / 

promptly responded to the RBI’s action and reducing 

(B) / the lending rates linked to an external benchmark 

(C) / and the repo rate by 75 bps. (D)

1. AB

2. CD

3. AD

4. BC

5. No error



However, if it is clear that the largest single party has 

no potential ally (A) / or enough independent 

members to ensured a (B) / majority, he may despite 

invite the leader of the (C) / largest pre-poll 

combination or alliance. (D) / 

1. AD

2. AC

3. BC

4. BD

5. No error



Apart from plugging revenue leakages and reducing the cost 

(A) / of delays and fuel consumption, which is also lookalike 

to cut down the nation’s GDP loss, (B) / according to the 

government, the RFID tag helps remove (C) / bottlenecks, 

ensures seamless moving of traffic and saves time. (D)

1. CD

2. BD

3. AD

4. BC

5. No error



Transgender people have a different gender identical 

(A) / than what was assigned to them at birth, (B) / 

while the term ‘intersex’ indicating diversity of gender 

based (C) / on biological characteristics at birth. (D) 

1. AD

2. BD

3. CD

4. AC

5. No error



The popularity of packaging air began around (A) / 

four years ago when a Canadian company (B) / 

launched ‘canned air’ for people in China when (C) / 

air pollution in many cities became alarmed high. (D)

1. BC

2. CD

3. BD

4. AD

5. No error
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